
  

 Test (CS): The Price Is Right

 Question 1a of 25 ( 2 Supply and demand 221674 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following is shown by the intersection of the supply curve and

the demand curve?

 

 Choice Feedback

A. The maximum price consumers will pay.

B. The amount that supply influences demand.

*C. The equilibrium price of a good or service.
Correct! The equilibrium price is the price at
which quantity supplied equals quantity
demanded.

D. The cost of production for a commodity.

 

Global Incorrect Feedback

The correct answer is: The equilibrium price of a
good or service. The equilibrium price is the
price at which quantity supplied equals quantity
demanded.

 Question 1b of 25 ( 2 Supply and demand 221675 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is located at the point where the supply and demand
curves intersect?

 

 Choice Feedback

A. The minimum supply.

*B. The equilibrium price.
Correct! The equilibrium price is the price at
which quantity supplied equals quantity
demanded.

C. The maximum demand.

D. The level of efficient production.

 

Global Incorrect Feedback

The correct answer is: The equilibrium price. The
equilibrium price is the price at which quantity
supplied equals quantity demanded.

 Question 1c of 25 ( 2 Supply and demand 221676 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following are needed to determine the equilibrium price of a
good or service?

 

 Choice Feedback

*A. A supply curve and a demand curve.
Correct! The equilibrium price is the price at
which quantity supplied equals quantity
demanded.

B. The ratio between surplus and shortage.

C. The difference between costs and revenues.

D. An accurate calculation of production costs.

 

Global Incorrect Feedback

The correct answer is: A supply curve and a
demand curve. The equilibrium price is the price
at which quantity supplied equals quantity
demanded.

 Question 2a of 25 ( 2 Supply and demand 221677 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following accurately describes a shortage?

 

 Choice Feedback

A. A scarcity of natural resources pushes car
companies into researching alternative fuels.

B.
The cost of producing a car is higher than the sale
price of the same car.

C.
A car company tries to charge too high a price for
a car and has to offer a rebate.

*D. Consumer demand for a certain car is greater than
the number of cars that can be produced.

Correct! A shortage occurs when demand
exceeds supply.

 

Global Incorrect Feedback

The correct answer is: Consumer demand for a
certain car is greater than the number of cars
that can be produced. A shortage occurs when
demand exceeds supply.

 Question 2b of 25 ( 2 Supply and demand 221678 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following accurately describes a surplus?

 

 Choice Feedback

*A.
Consumer demand for a certain car is below the
number of cars that are produced.

Correct! A surplus occurs when supply
exceeds demand.

B. The production costs for a certain car are below
the sale price of that car.

C. A car company tries to charge too high a price for
a car and has to reduce the price.

D.
A reduction in the cost of steel enables a car
company to reduce the sale price of its cars.

 

Global Incorrect Feedback

The correct answer is: Consumer demand for a
certain car is below the number of cars that are
produced. A surplus occurs when supply
exceeds demand.

 Question 2c of 25 ( 2 Supply and demand 221679 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following accurately describes the effect of a situation of
scarcity?

 

 Choice Feedback

A. A car company has a slow-down in sales, driving it
to offer a cash-back rebate.

*B.
There's a shortage of oil, pushing car companies
into researching alternative fuels.

Correct! Scarcity is a condition in which
resources are limited.

C. A car company produces fewer cars than
consumers demand, leading to a rise in prices.

D. There's a reduction in the cost of steel, enabling a
car company to reduce the sale price of its cars.

 

Global Incorrect Feedback

The correct answer is: There's a shortage of oil,
pushing car companies into researching
alternative fuels. Scarcity is a condition in which
resources are limited.

 Question 3a of 25 ( 3 Supply and demand 221680 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: In which of the following situations would the price of a good be most likely to
increase?

 

 Choice Feedback

*A. An increase in production costs results from a rise
in wages.

Correct! When production costs increase, the
price generally rises as well.

B. A rise in demand happens too quickly for
producers to increase production to keep up.

C.
A breakthrough in productive technology enables
a company to increase its output.

D. There's a sudden increase in the number of
companies competing to sell the good.

 

Global Incorrect Feedback

The correct answer is: An increase in production
costs results from a rise in wages. When
production costs increase, the price generally
rises as well.

 Question 3b of 25 ( 3 Supply and demand 221681 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: In which of the following situations would the price of a good be most likely to

increase?

 

 Choice Feedback

A.
The level of production rises to catch up with a
sudden rise in consumer demand.

*B.
A rise in demand happens too quickly for
producers to increase production to keep up.

Correct! When demand increases relative to
supply, prices rise.

C. The development of a new energy source reduces
production costs for a company.

D.
There's a sudden increase in the number of
companies competing to sell the good.

 

Global Incorrect Feedback

The correct answer is: A rise in demand
happens too quickly for producers to increase
production to keep up. When demand increases
relative to supply, prices rise.

 Question 3c of 25 ( 3 Supply and demand 221682 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: In which of the following situations would the price of a good be most likely to
decrease?

 

 Choice Feedback

A. Consumers start using more of a good because
the quality has increased significantly.

B.
A rise in demand happens too quickly for
producers to increase production to keep up.

*C.
The development of a new energy source reduces
production costs for a company.

Correct! When production costs decrease,
prices generally decrease, as well.

D. An increase in production costs results from a
sudden increase in wages.

 

Global Incorrect Feedback

The correct answer is: The development of a
new energy source reduces production costs for
a company. When production costs decrease,
prices generally decrease, as well.

 Question 4a of 25 ( 3 Marginal utility 221683 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: When someone buys a fourth television for his or her house, what is the

result?

 

 Choice Feedback

A.
There's a rise in the opportunity cost of buying
other goods.

B. The production of televisions becomes more
efficient.

*C.
There's a decrease in the marginal utility of the
television.

Correct! The utility of a good decreases with
the addition of each new one.

D.
The increase in demand brings leads to higher
prices for televisions.

 

Global Incorrect Feedback

The correct answer is: There's a decrease in the
marginal utility of the television. The utility of a
good decreases with the addition of each new
one.

 Question 4b of 25 ( 3 Marginal utility 221684 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: What happens when someone orders a second dessert when he or she is

already full from the first dessert?

 

 Choice Feedback

A. There's a decrease in overall demand.

B. The production of desserts becomes less efficient.

C. There's an increase in the economies of scale.

*D. The second dessert has less utility than the first
dessert.

Correct! There's decreasing marginal utility
when eating more food as you get more full.

 

Global Incorrect Feedback

The correct answer is: The second dessert has
less utility than the first dessert. There's
decreasing marginal utility when eating more
food as you get more full.

 Question 4c of 25 ( 3 Marginal utility 221685 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following occurs when someone buys a third winter coat?

 

 Choice Feedback

*A. Decreasing marginal utility
Correct! The utility of a new winter coat is
decreased if you already have a winter coat.

B. Elasticity

C. Substitution

D. Efficient production

 

Global Incorrect Feedback

The correct answer is: Decreasing marginal
utility. The utility of a new winter coat is
decreased if you already have a winter coat.

 Question 5a of 25 ( 3 Elasticity 221690 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following accurately describes a situation in which substitution

occurs?

 

 Choice Feedback

*A.
A restaurant starts using margarine instead of
butter because butter becomes more expensive.

Correct! Substitution occurs when consumers
switch from one good to another, usually
because the price has changed.

B.
A restaurant adds decaffeinated coffee to its
menu because more customers have asked for
this drink.

C.
Consumers boycott a restaurant because the
waiters aren't paid minimum wage.

D.
People give up eating pasta and bread because
they want to lose weight.

 

Global Incorrect Feedback

The correct answer is: A restaurant starts using
margarine instead of butter because butter
becomes more expensive. Substitution occurs
when consumers switch from one good to
another, usually because the price has
changed.

 Question 5b of 25 ( 3 Elasticity 221691 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following accurately describes a situation in which consumers

have inelastic demand?

 

 Choice Feedback

A.
People start using maple syrup because they are
making a larger income.

B. People give up eating red meat in order to have a
healthier heart.

*C.
People cannot quit drinking coffee even though
they want to cut down on caffeine intake.

Correct! Demand is inelastic when people
cannot give up using a good or service.

D.
People don't go to a restaurant because there are
no vegetarian-only dishes offered.

 

Global Incorrect Feedback

The correct answer is: People cannot quit
drinking coffee even though they want to cut
down on caffeine intake. Demand is inelastic
when people cannot give up using a good or
service.

 Question 5c of 25 ( 3 Elasticity 221692 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following accurately describes a situation in which consumers

have elastic demand?

 

 Choice Feedback

A.
A company starts using sugar instead of corn
syrup because its revenues are up.

*B.
People give up eating pasta and bread because
they want to lose weight.

Correct! Demand is elastic when people can
give up using a good or service.

C. Consumers boycott a restaurant because the
waiters aren't paid minimum wage.

D.
A restaurant starts using margarine instead of
butter because butter becomes more expensive.

 

Global Incorrect Feedback

The correct answer is: People give up eating
pasta and bread because they want to lose
weight. Demand is elastic when people can give
up using a good or service.

 Question 6a of 25 ( 2 Types of goods 221693 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is a trait of public goods?

 

 Choice Feedback

*A. Non-excludability
Correct! Public goods are such that
consumers cannot be excluded from enjoying
them even if they don't pay.

B. Inefficiency

C. Inelasticity

D. Non-inferiority

 

Global Incorrect Feedback

The correct answer is: Non-excludability. Public
goods are such that consumers cannot be
excluded from enjoying them even if they don't
pay.

 Question 6b of 25 ( 2 Types of goods 221694 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is a problem for the production of public goods?

 

 Choice Feedback

*A. The possibility of free riders. Correct! Public goods are non-excludable, so
there is always the possibility of free riders.

B. Inefficient production.

C. Rivalry among consumers.

D. An increasing demand curve.

 

Global Incorrect Feedback

The correct answer is: The possibility of free
riders. Public goods are non-excludable, so
there is always the possibility of free riders.

 Question 6c of 25 ( 2 Types of goods 221695 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following accurately describes one way that individual goods
differ from public goods?

 

 Choice Feedback

*A. People can be excluded from using individual
goods if they don't pay.

Correct! Individual goods are excludable
while public goods are non-excludable.

B. All individual goods are normal goods.

C. Demand for individual goods is always inelastic.

D.
Consumer rivalry results in decreasing marginal
utility for individual goods.

 

Global Incorrect Feedback

The correct answer is: People can be excluded
from using individual goods if they don't pay.
Individual goods are excludable while public
goods are non-excludable.

 Question 7a of 25 ( 2 Labor market 221696 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is one of the major factors determining the level of
wages?

 

 Choice Feedback

A. The production possibilities frontier.

B. The law of diminishing marginal return.

*C. The law of supply and demand.
Correct! Like all commodities, labor has a
supply and a demand that affect its price.

D. The level of production costs.

 

Global Incorrect Feedback

The correct answer is: The law of supply and
demand. Like all commodities, labor has a
supply and a demand that affect its price.

 Question 7b of 25 ( 2 Labor market 221697 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: All of the following factors affect the level of wages except which of the
following?

 

 Choice Feedback

A. The law of supply and demand.

B. Minimum-wage laws.

C. The actions of labor unions.

*D. The production possibilities frontier.
Correct! The production possibilities frontier
is used to determine how to have efficient
production.

 

Global Incorrect Feedback

The correct answer is: The production
possibilities frontier. The production possibilities
frontier is used to determine how to have
efficient production.

 Question 7c of 25 ( 2 Labor market 221698 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: All of the following factors affect the level of wages except which of the

following?

 

 Choice Feedback

A. The size of the labor pool.

B. The level of immigration.

*C. The gross domestic product.
Correct! The gross domestic product
measures overall economic activity.

D. The actions of labor unions.

 

Global Incorrect Feedback

The correct answer is: The gross domestic
product. The gross domestic product measures
overall economic activity.

 Question 8a of 25 ( 2 Labor market 221699 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following limits the freedom of workers in the labor market?

 

 Choice Feedback

*A. The inflexibility of the work force.

Correct! Certain jobs require certain levels of
experience, training, and/or education, which
means that not anyone can take every
available job.

B. The availability of education.

C. The level of the minimum wage.

D. The existence of industrial robots.

 

Global Incorrect Feedback

The correct answer is: The inflexibility of the
work force. Certain jobs require certain levels of
experience, training, and/or education, which
means that not anyone can take every available
job.

 Question 8b of 25 ( 2 Labor market 221700 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following limits the freedom of both employers and workers in

the labor market?

 

 Choice Feedback

A. The operations of collective bargaining.

B. The availability of educated workers.

*C. The existence of a minimum wage.
Correct! The minimum wage prevents
workers and producers from freely agreeing
to very low wage levels

D. The problem of monopolistic competition.

 

Global Incorrect Feedback

The correct answer is: The existence of a
minimum wage. The minimum wage prevents
workers and producers from freely agreeing to
very low wage levels.

 Question 8c of 25 ( 2 Labor market 221701 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best explains one of the restrictions on producers that
keeps the labor market from being a completely free market?

 

 Choice Feedback

A. Immigration increases the size of the available
labor pool.

B.
The government has millions of bureaucratic
workers.

*C.
Workers don't always have the education required
to perform certain jobs.

Correct! An adequate labor pool isn't always
available for the jobs that need to be done.

D. Unions represent workers in collective bargaining
situations.

 

Global Incorrect Feedback

The correct answer is: Workers don't always
have the education required to perform certain
jobs. An adequate labor pool isn't always
available for the jobs that need to be done.

 Question 9a of 25 ( 2 Labor market 221705 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Because immigration can result in an increase in the supply of labor,

immigration can result in which of the following?

 

 Choice Feedback

A. An increase in the bargaining power of unions.

B. Severe restrictions on citizenship.

C. The passage of minimum-wage laws.

*D. A general decrease in wages. Correct! When the size of the labor pool
increases, wages tend to decrease.

 

Global Incorrect Feedback

The correct answer is: A general decrease in
wages. When the size of the labor pool
increases, wages tend to decrease.

 Question 9b of 25 ( 2 Labor market 221706 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is most likely to lead to a general decrease in wages?

 

 Choice Feedback

*A. Immigration
Correct! When people move into a country,
the supply of labor increases and this leads
to a lower price for labor.

B. Elastic demand

C. An economic recovery

D. Public goods

 

Global Incorrect Feedback

The correct answer is: Immigration. When
people move into a country, the supply of labor
increases and this leads to a lower price for
labor.

 Question 9c of 25 ( 2 Labor market 221707 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Immigration can result in a general decrease in wages because immigration

does which of the following?

 

 Choice Feedback

*A. Increases the supply of labor.
Correct! Wages often go down when the
supply of labor increases.

B. Affects the gross domestic product.

C. Leads to government regulation of unions.

D. Reduces overall consumption.

 

Global Incorrect Feedback

The correct answer is: Increases the supply of
labor. Wages often go down when the supply of
labor increases.

 Question 10a of 25 ( 2 Labor market 221709 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following leads to an increase in bargaining power for workers?

 

 Choice Feedback

A. An increase in the supply of labor.

B. Minimum-wage laws.

C. Protectionist trade policies.

*D. The existence of unions.
Correct! The collective bargaining power of
unions puts workers on a more equal level
with employers.

 

Global Incorrect Feedback

The correct answer is: The existence of unions.
The collective bargaining power of unions puts
workers on a more equal level with employers.

 Question 10b of 25 ( 2 Labor market 221710 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best explains how unions help workers get better

wages?

 

 Choice Feedback

*A.
The collective bargaining power of unions puts
workers on a more equal level with employers.

Correct! Collective bargaining gives workers
more power in contract negotiations.

B.
Unions provide workers with the educational
opportunities needed to get the best-paying jobs.

C.
Work slowdowns sponsored by unions help
employers cut production costs and increase
sales.

D.
The high level of union dues pushes workers into
demanding better wages so they can afford their
dues.

 

Global Incorrect Feedback

The correct answer is: The collective bargaining
power of unions puts workers on a more equal
level with employers. Collective bargaining gives
workers more power in contract negotiations.

 Question 10c of 25 ( 2 Labor market 221711 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best explains why unions give workers more power in

contract negotiations?

 

 Choice Feedback

A.
Employers aren't legally allowed to reject a
contract from a union.

*B.
Employers can't fire an entire union because of
the difficulty of replacing every worker.

Correct! Employers need their workers, and
collective bargaining prevents them from
letting go of one or two workers who
demand better wages and working
conditions.

C.
Unions are able to provide workers with the
education they need.

D. Unions can provide a supply of strikebreakers.

 

Global Incorrect Feedback

The correct answer is: Employers can't fire an
entire union because of the difficulty of
replacing every worker. Employers need their
workers, and collective bargaining prevents
them from letting go of one or two workers who
demand better wages and working conditions.

 Question 11a of 25 ( 2 Labor market 221712 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is intended to demonstrate to an employer the
importance of cooperating with workers?

 

 Choice Feedback

A. A stock offer.

B. A boost in production.

*C. A work slowdown.
Correct! A slowdown is supposed to show an
employer how important the cooperation of
workers is to the productive process.

D. A collective agreement.

 

Global Incorrect Feedback

The correct answer is: A work slowdown. A
slowdown is supposed to show an employer
how important the cooperation of workers is to
the productive process.

 Question 11b of 25 ( 2 Labor market 221713 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following actions can a union take to get an employer to submit
to collective bargaining?

 

 Choice Feedback

A. Buy from competitors.

*B. Call a strike.
Correct! Workers can cripple production by
using a strike, and this pressures employers
into accepting collective bargaining.

C. Increase the labor supply.

D. Lobby for government regulation.

 

Global Incorrect Feedback

The correct answer is: Call a strike. Workers can
cripple production by using a strike, and this
pressures employers into accepting collective
bargaining.

 Question 11c of 25 ( 2 Labor market 221714 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following can employers use to prevent an industrial action by a

union from affecting production?

 

 Choice Feedback

*A. Strikebreakers

Correct! Employers hire strikebreakers in
response to strikes and slowdowns in order
to prevent workers from gaining an
advantage in bargaining.

B. Social security

C. Wage cuts

D. Collective bargaining

 

Global Incorrect Feedback

The correct answer is: Strikebreakers.
Employers hire strikebreakers in response to
strikes and slowdowns in order to prevent
workers from gaining an advantage in
bargaining.

 Question 12a of 25 ( 1 Labor market 221715 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following has led to greater competition among workers looking
for jobs?

 

 Choice Feedback

*A. Globalization
Correct! Globalization brings immigration and
outsourcing, both of which increases competition among
workers.

B. Protectionism

C. Specialization

D. Unionization

 

Global Incorrect Feedback

The correct answer is: Globalization.
Globalization brings immigration and
outsourcing, both of which increases
competition among workers.

 Question 12b of 25 ( 1 Labor market 221716 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following results of globalization has led to wage cuts for

workers in the United States?

 

 Choice Feedback

A. Protectionism

*B. Outsourcing
Correct! With outsourcing, workers in the United States
have to compete with each other more fiercely over the
jobs that remain.

C. Specialization

D. Unionization

 

Global Incorrect Feedback

The correct answer is: Outsourcing. With
outsourcing, workers in the United States have
to compete with each other more fiercely over
the jobs that remain.

 Question 12c of 25 ( 1 Labor market 221717 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following results from outsourcing jobs from the United States to

other countries?

 

 Choice Feedback

*A. Lower wages for U.S. workers.

Correct! With outsourcing, workers in the
United States have to compete with each
other more fiercely over the jobs that remain,
and this competition results in lower wages.

B. Increasing exports out the United States.

C. Reduced immigration to the United States.

D. Subsidies for goods made in the United States.

 

Global Incorrect Feedback

The correct answer is: Lower wages for U.S.
workers. With outsourcing, workers in the
United States have to compete with each other
more fiercely over the jobs that remain, and this
competition results in lower wages.

 Question 13a of 25 ( 3 Policy 221718 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each type of policy with the example that best fits its definition.

 Choice Text
Correct
Match   Match Text

 A. Protectionist policy B.
The government goes into debt to buy a large number of
vehicles for the military.

 B. Fiscal policy A. The government limits the number of foreign cars that can be
sold in the United States.

 C. Monetary policy C.
The government decreases the interest rates on loans
charged to car companies.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Protectionist policy :
The government limits the number of foreign
cars that can be sold in the United States; Fiscal
policy : The government goes into debt to buy a
large number of vehicles for the military;
Monetary policy : The government decreases
the interest rates on loans charged to car
companies.

 Question 13b of 25 ( 3 Policy 221719 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each type of policy with the example that best fits its definition.

 Choice Text
Correct
Match   Match Text

 A. Protectionist policy A. A high tax on cars imported from other countries.

 B. Fiscal policy B. Reduced taxes on corporate profits.

 C. Monetary policy C. Increased interest rates on loans.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Protectionist policy : A
high tax on cars imported from other countries;
Fiscal policy : Reduced taxes on corporate
profits; Monetary policy : Increased interest
rates on loans.

 Question 13c of 25 ( 3 Policy 221720 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each type of policy with the example that best fits its definition.

 Choice Text
Correct
Match   Match Text

 A. Protectionist policy C.
The government restricts the amount of money that can be
loaned to farmers.

 B. Fiscal policy B. The government purchases a large amount of domestically
grown grain.

 C. Monetary policy A.
The government limits the amount of European grain that can
be sold in the United States.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Protectionist policy :
The government limits the amount of European
grain that can be sold in the United States;
Fiscal policy : The government purchases a
large amount of domestically grown grain;
Monetary policy : The government restricts the
amount of money that can be loaned to
farmers.

 Question 14a of 25 ( 3 Housing 221722 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following housing decisions provides a person with both housing

and an investment?

 

 Choice Feedback

A. Subletting a condominium.

B. Renting an apartment.

C. Selling a share in a cooperative.

*D. Buying a single-family home.

Correct! Buying a home gives people a
residence and also allows them to sell their
house, often for more than they originally
paid, which makes it an investment.

 

Global Incorrect Feedback

The correct answer is: Buying a single-family
home. Buying a home gives people a residence
and also allows them to sell their house, often
for more than they originally paid, which makes
it an investment.

 Question 14b of 25 ( 3 Housing 221723 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following housing decisions gives a person the best chance to
make a profit on his or her investment?

 

 Choice Feedback

*A. Buying a single-family home in a city. Correct! Housing prices in cities generally
increase more quickly than anywhere else.

B. Building condominiums in an exurb.

C. Renting an apartment.

D. Purchasing land in a rural area.

 

Global Incorrect Feedback

The correct answer is: Buying a single-family
home in a city. Housing prices in cities generally
increase more quickly than anywhere else.

 Question 14c of 25 ( 3 Housing 221724 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best explains why buying a single-family home in a city
is a good investment?

 

 Choice Feedback

A. Mortgage payments on houses are generally
lower than rent on urban apartments.

*B.
Housing prices in cities generally increase more
quickly than anywhere else.

Correct! Because housing prices in the city
increase so quickly, it's possible to make a
large profit on the sale of a single-family
home in an urban area.

C. Low crime rates in the city make it safe to invest in
a single-family home.

D.
Living in the city puts people in closer proximity to
high-paying jobs.

 

Global Incorrect Feedback

The correct answer is: Housing prices in cities
generally increase more quickly than anywhere
else. Because housing prices in the city increase
so quickly, it's possible to make a large profit on
the sale of a single-family home in an urban
area.

 Question 15a of 25 ( 2 Elasticity 221725 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following commodities has the most inelastic supply?

 

 Choice Feedback

*A. Housing
Correct! The supply of housing can't change very quickly
because building houses is expensive and takes a lot of
time.

B. Labor

C. Food

D. Transportation

 

Global Incorrect Feedback

The correct answer is: Housing. The supply of
housing can't change very quickly because
building houses is expensive and takes a lot of
time.

 Question 15b of 25 ( 2 Elasticity 221726 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following results from the fact that housing is expensive and

time-consuming to build?

 

 Choice Feedback

A. Investing in housing is very risky.

*B. The supply of housing is inelastic.
Correct! The supply of housing can't change
very quickly.

C. The demand for housing grows slowly.

D. Population density goes up and down quickly.

 

Global Incorrect Feedback

The correct answer is: The supply of housing is
inelastic. The supply of housing can't change
very quickly.

 Question 15c of 25 ( 2 Elasticity 221727 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best explains why the supply of housing often cannot

keep up with increases in demand?

 

 Choice Feedback

A.
Demographic changes make the demand for
housing unpredictable.

B.
Banks do not like to invest in new-house
construction.

*C. Housing is expensive and time-consuming to build. Correct! The supply of housing can't change
very quickly while demand can.

D.
Zoning laws prevent real-estate developers from
being creative.

 

Global Incorrect Feedback

The correct answer is: Housing is expensive and
time-consuming to build. The supply of housing
can't change very quickly while demand can.

 Question 16a of 25 ( 3 Housing 221728 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: The selling price of houses would be most likely to increase if there were a

decrease in which of the following?

 

 Choice Feedback

A. The population of the city or town.

B. Government regulation.

C. The construction of new homes.

*D. Mortgage interest rates.

Correct! When interest rates go down, more
people can afford to buy, increasing
competition among home-buyers and driving
up prices.

 

Global Incorrect Feedback

The correct answer is: Mortgage interest rates.
When interest rates go down, more people can
afford to buy, increasing competition among
home-buyers and driving up prices.

 Question 16b of 25 ( 3 Housing 221729 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Consumers are most likely to be priced out of the option to buy a home when

there's an increase in which of the following?

 

 Choice Feedback

A. Investment in housing construction.

B. The supply of housing.

*C. Mortgage interest rates.

Correct! Higher mortgage rates increase the
monthly housing payment, often to such an
extent that some people can't fit the higher
payment into their budget.

D. Government subsidies to home-buyers.

 

Global Incorrect Feedback

The correct answer is: Mortgage interest rates.
Higher mortgage rates increase the monthly
housing payment, often to such an extent that
some people can't fit the higher payment into
their budget.

 Question 16c of 25 ( 3 Housing 221730 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: The selling price of houses would be most likely to decrease if there were first
a decrease in which of the following?

 

 Choice Feedback

*A. Construction workers' wages. Correct! Construction costs are a major
factor in the cost of housing.

B. Mortgage interest rates.

C. The unemployment rate.

D. New-housing construction.

 

Global Incorrect Feedback

The correct answer is: Construction workers'
wages. Construction costs are a major factor in
the cost of housing.

 Question 17a of 25 ( 3 Housing 221731 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: A rapid increase in the population of a city or town is most likely to lead to

which of the following?

 

 Choice Feedback

A. Low housing prices.

B. Higher-paying jobs.

*C. A seller's market.
Correct! As population increases, competition
among buyers increases, putting the sellers
in a stronger position.

D. A drop in population density.

 

Global Incorrect Feedback

The correct answer is: A seller's market. As
population increases, competition among
buyers increases, putting the sellers in a
stronger position.

 Question 17b of 25 ( 3 Housing 221732 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: A factory laying off a lot of workers in a town is most likely to lead to which of
the following?

 

 Choice Feedback

A. Economic recovery.

*B. A buyer's market.

Correct! With a lot of layoffs, many people
are likely to be selling their homes, which
increases competition among sellers and
results in a buyer's market.

C. Rise in housing investment.

D. Increase in population density.

 

Global Incorrect Feedback

The correct answer is: A buyer's market. With a
lot of layoffs, many people are likely to be
selling their homes, which increases competition
among sellers and results in a buyer's market.

 Question 17c of 25 ( 3 Housing 221733 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: If the price of building materials suddenly increased by a large amount, there

would most likely be which of the following?

 

 Choice Feedback

*A. Shift to a seller's market.

Correct! With a higher cost of building
materials, there will be less new-house
construction, making the existing supply of
housing more scarce and therefore more
valuable.

B. Rush to build new houses.

C. A decrease in property taxes.

D. Increase in mortgage interest rates.

 

Global Incorrect Feedback

The correct answer is: Shift to a seller's market.
With a higher cost of building materials, there
will be less new-house construction, making the
existing supply of housing more scarce and
therefore more valuable.

 Question 18a of 25 ( 2 Population density 221734 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following areas gives people access to both high-paying jobs

and more living space?

 

 Choice Feedback

A. Exurbs

B. The city

C. Rural areas

*D. The suburbs
Correct! Because of lower population density
than the nearby city, suburbs give people
more space for yards and privacy.

 

Global Incorrect Feedback

The correct answer is: The suburbs. Because of
lower population density than the nearby city,
suburbs give people more space for yards and
privacy.

 Question 18b of 25 ( 2 Population density 221735 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following areas provides residents with close access to high-

paying jobs and cultural attractions?

 

 Choice Feedback

*A. The city

Correct! People like living in cities because of
the restaurants, museums, and other cultural
attractions that are available along with the
availability of high-paying jobs.

B. Exurbs

C. Rural areas

D. The suburbs

 

Global Incorrect Feedback

The correct answer is: The city. People like living
in cities because of the restaurants, museums,
and other cultural attractions that are available
along with the availability of high-paying jobs.

 Question 18c of 25 ( 2 Population density 221736 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following has the lowest housing prices and the smallest
population density?

 

 Choice Feedback

A. Inner-city neighborhoods

B. High-rise apartments

*C. Rural areas
Correct! Rural areas are more sparsely
populated and have lower average housing
prices than other areas.

D. Suburban developments

 

Global Incorrect Feedback

The correct answer is: Rural areas. Rural areas
are more sparsely populated and have lower
average housing prices than other areas.

 Question 19a of 25 ( 1 Supply and demand 221737 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: A calculation of the amount that the average person can afford to buy is a
way of measuring which of the following?

 

 Choice Feedback

*A. Standard of living

Correct! The standard of living is a
measurement of how many goods and
services the average person can afford to
buy.

B. The inflation rate

C. National income

D. Unemployment

 

Global Incorrect Feedback

The correct answer is: Standard of living. The
standard of living is a measurement of how
many goods and services the average person
can afford to buy.

 Question 19b of 25 ( 1 Supply and demand 221738 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: An increase in the standard of living results from an increase in which of the

following?

 

 Choice Feedback

A. Production costs

B. Unemployment

*C. Income Correct! The standard of living goes up
when people can afford to buy more.

D. Consumer demand

 

Global Incorrect Feedback

The correct answer is: Income. The standard of
living goes up when people can afford to buy
more.

 Question 19c of 25 ( 1 Supply and demand 221739 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: When either prices go down or income goes up, there is an increase in which

of the following?

 

 Choice Feedback

*A. The standard of living
Correct! When either prices fall or incomes
rise, people can afford to buy more goods
and services.

B. Unemployment

C. The inflation rate

D. The gross domestic product

 

Global Incorrect Feedback

The correct answer is: The standard of living.
When either prices fall or incomes rise, people
can afford to buy more goods and services.

 Question 20a of 25 ( 2 Trade 221740 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is most likely to create new markets?

 

 Choice Feedback

A. Fiscal policy

B. Competition

C. Protectionism

*D. Free trade
Correct! By getting goods from one area to another,
trade often results in new markets for goods that were
once available only in certain places.

 

Global Incorrect Feedback

The correct answer is: Free trade. By getting
goods from one area to another, international
trade often results in new markets for goods
that were once available only in certain places.

 Question 20b of 25 ( 2 Trade 221741 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: What is the most direct result of free trade supplying productive resources to

areas where they're most needed?

 

 Choice Feedback

A. Increasing specialization

*B. Enhanced efficiency
Correct! By enabling productive resources to
go where they're needed, these resources
won't go to waste.

C. Greater competition

D. Lower interest rates

 

Global Incorrect Feedback

The correct answer is: Enhanced efficiency. By
enabling productive resources to go where
they're needed, these resources won't go to
waste.

 Question 20c of 25 ( 2 Trade 221742 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is most necessary for specialization among producers
to take place?

 

 Choice Feedback

*A. Free trade

Correct! Without trade, people would need
to fulfill all of their needs themselves instead
of specializing in a particular form of
production.

B. Monetary policy

C. Competition

D. Scarcity

 

Global Incorrect Feedback

The correct answer is: Free trade. Without
trade, people would need to fulfill all of their
needs themselves instead of specializing in a
particular form of production.

 Question 21a of 25 ( 2 Trade 221743 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best describes the effect of a tariff on the import of

cars from a foreign country?

 

 Choice Feedback

A. Demand for foreign cars is increased.

*B. Foreign cars become more expensive.
Correct! Tariffs are taxes that raise the
prices of imports.

C. The government runs a budget deficit.

D. The domestic economy goes into recession.

 

Global Incorrect Feedback

The correct answer is: Foreign cars become
more expensive. Tariffs are taxes that raise the
prices of imports.

 Question 21b of 25 ( 2 Trade 221744 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best states the purpose of a government subsidy?

 

 Choice Feedback

*A.
To protect domestic producers against
international competition.

Correct! Subsidies provide money to
domestic companies to allow them to keep
prices low and better compete with foreign
producers.

B. To keep prices low for consumers around the
world.

C. To enable companies to outsource jobs.

D. To prevent a budget deficit.

 

Global Incorrect Feedback

The correct answer is: To protect domestic
producers against international competition.
Subsidies provide money to domestic companies
to allow them to keep prices low and better
compete with foreign producers.

 Question 21c of 25 ( 2 Trade 221745 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best states the purpose of an import quota?

 

 Choice Feedback

*A. To reduce competition from foreign producers.
Correct! By limiting the import of foreign
goods, a quota protects domestic producers
from competition by foreign producers.

B. To lower taxes and limit government spending.

C. To increase the gross domestic product.

D. To prevent a budget deficit.

 

Global Incorrect Feedback

The correct answer is: To reduce competition
from foreign producers. By limiting the import of
foreign goods, a quota protects domestic
producers from competition by foreign
producers.

 Question 22a of 25 ( 2 Business cycle 221747 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following leads to the end of a boom period in the business

cycle?

 

 Choice Feedback

*A. A reduction in consumer demand resulting from
inflation.

Correct! A boom period ends when demand
decreases, which leads to unemployment
and a further decrease in demand.

B.
A rise in prices resulting from higher production
costs.

C. A natural disaster resulting in greater demand for
housing construction.

D. A rise in interest rates.

 

Global Incorrect Feedback

The correct answer is: A reduction in consumer
demand resulting from inflation. A boom period
ends when demand decreases, which leads to
unemployment and a further decrease in
demand.

 Question 22b of 25 ( 2 Business cycle 221748 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best explains how a recovery period leads to a boom?

 

 Choice Feedback

A. A decrease in unemployment resulting from low
production costs.

B.
A reduction in consumer demand resulting from
hyperinflation.

*C.
An increase in consumer demand resulting from a
reduction in prices.

Correct! Even with unemployment, low prices
can stimulate demand, and increasing
demand leads to greater production and
more hiring.

D.
A natural disaster resulting in greater demand for
housing construction.

 

Global Incorrect Feedback

The correct answer is: An increase in consumer
demand resulting from a reduction in prices.
Even with unemployment, low prices can
stimulate demand, and increasing demand
leads to greater production and more hiring.

 Question 22c of 25 ( 2 Business cycle 221749 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best explains what happens when unemployment
increases during a recession?

 

 Choice Feedback

A. The recession turns into a boom period.

B. The recession recedes into a recovery.

*C. The recession worsens into a depression.
Correct! Unemployment is already high
during a recession, and things get worse
when unemployment goes even higher.

D. The recession leads to cost-push inflation.

 

Global Incorrect Feedback

The correct answer is: The recession worsens
into a depression. Unemployment is already
high during a recession, and things get worse
when unemployment goes even higher.

 Question 23a of 25 ( 2 Business cycle 221750 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is the cause of demand-pull inflation?

 

 Choice Feedback

A. A shortage of workers increases production costs.

*B. Consumers want more and more goods and
services.

Correct! When rising consumer demand
pushes up prices, there's demand-pull
inflation.

C. Foreign competition drives domestic prices higher.

D. Globalization and outsourcing reduce national
income.

 

Global Incorrect Feedback

The correct answer is: Consumers want more
and more goods and services. When rising
consumer demand pushes up prices, there's
demand-pull inflation.

 Question 23b of 25 ( 2 Business cycle 221751 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is the most direct cause of cost-push inflation?

 

 Choice Feedback

A. Reductions in wages.

*B. Rising production costs.
Correct! When the cost of production rises,
prices are driven upward.

C. Greater scarcity of natural resources.

D. Increasing supply of goods and services.

 

Global Incorrect Feedback

The correct answer is: Rising production costs.
When the cost of production rises, prices are
driven upward.

 Question 23c of 25 ( 2 Business cycle 221752 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following would lead to an increase in the inflation rate?

 

 Choice Feedback

*A. Rapidly rising production costs. Correct! When the cost of production rises,
prices are driven upward.

B. The spread of outsourcing.

C. An end to protectionist policies.

D. Steadily climbing unemployment.

 

Global Incorrect Feedback

The correct answer is: Rapidly rising production
costs. When the cost of production rises, prices
are driven upward.

 Question 24a of 25 ( 3 Policy 221753 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is an example of a fiscal policy?

 

 Choice Feedback

*A. Raising taxes in order to cover a budget deficit. Correct! Fiscal policy concerns taxation and
spending by the government.

B. Preventing unions from going on strike.

C. Increasing the level of the minimum wage.

D.
Restricting the amount of money that banks can
lend.

 

Global Incorrect Feedback

The correct answer is: Raising taxes in order to
cover a budget deficit. Fiscal policy concerns
taxation and spending by the government.

 Question 24b of 25 ( 3 Policy 221754 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is an example of a fiscal policy?

 

 Choice Feedback

A.
Lowering the interest rate on loans to
corporations.

B. Allowing workers to bargain collectively.

*C.
Increasing taxes to pay for greater military
spending.

Correct! Fiscal policy concerns taxation and
spending by the government.

D. Setting up an unemployment insurance program.

 

Global Incorrect Feedback

The correct answer is: Increasing taxes to pay
for greater military spending. Fiscal policy
concerns taxation and spending by the
government.

 Question 24c of 25 ( 3 Policy 221755 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is an example of the use of fiscal policy by the U.S.
government?

 

 Choice Feedback

*A. The Department of Transportation increases
spending on highway repairs.

Correct! Fiscal policy concerns taxation and
spending by the government.

B.
Congress makes it illegal for the police union to go
on strike.

C.
The Federal Reserve Bank lowers the interest rate
on loans to corporations.

D. The Supreme Court rules that unions have the
right to collective bargaining.

 

Global Incorrect Feedback

The correct answer is: The Department of
Transportation increases spending on highway
repairs. Fiscal policy concerns taxation and
spending by the government.

 Question 25a of 25 ( 3 Economies of scale 221757 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following results from a large company's ability to take

advantage of economies of scale?

 

 Choice Feedback

*A. The company can offer goods more cheaply than
smaller retailers.

Correct! Large companies buy more goods
from wholesalers, which allows them to pay
lower prices and pass the savings on to
customers.

B.
The company can hire fewer workers for lower
wages.

C.
The company can rely on better technology for
production.

D. The company can more effectively use the Internet
for advertising.

 

Global Incorrect Feedback

The correct answer is: The company can offer
goods more cheaply than smaller retailers.
Large companies buy more goods from
wholesalers, which allows them to pay lower
prices and pass the savings on to customers.

 Question 25b of 25 ( 3 Economies of scale 221758 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best explains why large companies have an advantage
over smaller companies?

 

 Choice Feedback

A. The production possibilities frontier is wider for a
larger company.

B.
Decreasing marginal utility enables more efficient
production.

C.
Increasing the scale of production leads to a
reduction in inputs.

*D. Economies of scale make it possible to offer lower
prices.

Correct! A larger customer base lets
companies buy in bulk at the best possible
prices and pass the savings on to
consumers.

 

Global Incorrect Feedback

The correct answer is: Economies of scale make
it possible to offer lower prices. A larger
customer base lets companies buy in bulk at the
best possible prices and pass the savings on to
consumers.

 Question 25c of 25 ( 3 Economies of scale 221759 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best explains why wholesalers can offer lower prices to
larger customers?

 

 Choice Feedback

*A.
Large companies can buy all or most of a
wholesaler's stock, reducing the wholesaler's
administrative costs.

Correct! The smaller number of transactions
and negotiations that are required for doing
business with a large company reduces the
costs to wholesalers, enabling them to offer
a lower price.

B.
Large companies are able to take advantage of
increasing marginal utility to outbid smaller
competitors.

C.
Large companies can use the power of collective
bargaining to give them an advantage over
wholesalers.

D.
Large companies are able to pay for the goods
they purchase in cash, giving wholesaler's the
possibility to invest in the stock market.

 

Global Incorrect Feedback

The correct answer is: Large companies can buy
all or most of a wholesaler's stock, reducing the
wholesaler's administrative costs. The smaller
number of transactions and negotiations that
are required for doing business with a large
company reduces the costs to wholesalers,
enabling them to offer a lower price.
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